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AW4 4.65 0.790| N 1.000| 0.480| 1.800| 1.480| E¥#li% 2 0.27 0.82| 0.194| 0.348 0.422 0.333| 0.252| 0.394 0.462 0.365
AWl 4.65 0.790| S 2.000 | 0.500| 2.000| 2.500 | Zf#Eix 2 0.25 1.25| 0.148| 0.342 0.391 0.309| 0.071| 0.408 0.492 0.389
AW7 4.65 0.790 | W 1.000| 0.550| 1.000| 1.550| E¥#fi% 2 0.55 1.55| 0.235| 0.476 0.609 0.481| 0.258| 0.511 0.650 0.514
AW8 3.60 0.380| W 1.000| 0.550| 1.000| 1.550| E¥#li% 2 0.55 1.55| 0.235| 0.476 0.609 0.231| 0.258| 0.511 0.650 0.247

*1 11=yl/z QOZEZZHE. XITERINVENGEE20ET D)
*2 12=(yl+ty2)/z (%FBZRZ5HE. XIFAKRIHVENEET20ET D)

] FEWE  AZ A TQF)



NEFHRERE (VW) REAEHOTHEHRIEE (np)  HEE

HF%& : AZ4 T(F) FRUE: BTHE-Z REH : 60.00 mi RS . 5
BTk - B L HEY BEEH
H Z3| A =i} g BT | SAUE
No FHhL EBAL AR FR BBALEREA Mg | RE HE E]m] BB aEe R £48 | W/mi-K]| A(L)-U-H| B vC | AL 7 (C) vH | AL n(H)
. sl = & B [ miE | HE| BER [k a (AR) | #& BIRKE| nfE | nC Hi Ve nH FHhL - vH
B8 A R "E ] | [m [m [@l| [m] [m [-1 [m] %] BMEER | [W/K] [-1 [-1 &% [-1 i34
[-1 [W/m-K] [-1 | BSRnmEE [-1 | BRREmEE
W/ W/ )] w/Qu/m)]
1|N shEE RC150(40) S5 | 1.00 5.000 2.950 14.75 14.75 2.90 11.85 0.71 8.41| 0.024 0.373 0.106 0.238 0.068
2| LN olmE:id AW4 SR | 1.00 1.200 1.000 1.20 1 1.20 4.65 5.58| 0.790| 0.333| 0.373 0.149| 0.365| 0.238 0.104
3| LN RO SD1 S5 | 1.00 0.850 2.000 1.70 1 1.70 4.65 7.91| 0.158 0.373 0.100 0.238 0.064
4 E shEE RC180(40) 5% | 1.00] 12.000 2.950 35.40 35.40 35.40 0.70 24.78| 0.024 0.500 0.425 0.568 0.483
5|S 5hEE RC150(40) SR | 1.00 5.000 2.950 14.75 14.75 7.20 7.55 0.71 5.36| 0.024 0.472 0.086 0.983 0.178
6| Ls olmE:id AWL SR | 1.00 3.600 2.000 7.20 1 7.20 4.65 33.48| 0.790| 0.309| 0.472 1.050| 0.389| 0.983 2.753
7w shEE RC180(40) % | 1.00] 12.000 2.950 35.40 35.40 3.00 32.40 0.70 22.68| 0.024 0.518 0.403 0.538 0.418
gl Lw olmE:id AW7 SR | 1.00 1.500 1.000 1.50 1 1.50 4.65 6.98| 0.790| 0.481| 0.518 0.374| 0.514| 0.538 0.415
9| Lw olmE:id A8 SR | 1.00 1.500 1.000 1.50 1 1.50 3.60 5.40| 0.380| 0.231| 0.518 0.179| 0.247| 0.538 0.199
10 | H(L) RK £ BEREER BF% | 0.15 60.00 60.00 60.00 3.28 29.52
11| H(F) RK Ew ~(35) BFE% | 0.15 60.00 60.00 60.00 0.69 6.21
12| N BB SLEE-FR(HMER) S5 | 1.00 5.000 | 100% 0.60 3.00| 0.020 0.373 0.037 0.238 0.024
13| E BABE SVEE-FR(BE £ ) S5 | 1.00 12.000 | 100% 1.00 12.00| 0.034 0.500 0.204 0.568 0.232
141S BB SLEE-FR(HMR) S5 | 1.00 5.000 | 100% 0.60 3.00| 0.020 0.472 0.047 0.983 0.098
15| W BABE SHEE-IR(RR) SN& | 1.00 12.000 | 100% 0.85 10.20| 0.029 0.518 0.180 0.538 0.187
16 | H(T) B4EER e -5 EE (51 R) Ewv bk |0.15 5.000 | 100% 0.20 0.15
17 | H(F) BB R -5 B2 (S R) Ewvk|0.15 5.000 | 100% 0.20 0.15
18 | H(TF) B4EER e -5V EE (R R) Ewv bk |0.15 12.000 | 100% 0.45 0.81
19 | H(TF) BHEER Hheh - R Ewv bk |0.15 12.000 | 100% 2.30 4.14
SA=  220.30 IAL)-U-H=  189.76 IAWL):-N(C)-vC = 3.340
UA = ZA(L)-UH/ ZA= 0.87 nA= ZA(L)-n(C)-vC/ TAX100 = 1.6
(HE(E 0.87 ) (B#(E - 3.0)
K—RIRILF—EtHEWebANE — q= ZA(L)-U-H= 148.8 nc = ZAL)-n(C)-vC = 3.34  mH= IAL)-n(H)-vH = 5.22
(R - FRERL)

wRmst

A% 4 F(F)




BORERER VASBIEE—F P-1
oI 43

AEH BEEH
BERE | BHEHB | A BRUBRBRTFOTE[M] AftE | A5 X 11 12
FOARE TR u g WED | L0 BROBRY | HERYK nc HROBREY | MERYK nH
[W/mK] n y2 y1 z ylvy2 | SHEAE | RS fc (=fCcn) fH (=FH )
-1 *1 * 1 ) f )

AW4 4.65 0.790| N 1.000| 0.480| 1.800| 1.480| E¥#li% 2 0.27 0.82| 0.194| 0.348 0.422 0.333| 0.252| 0.394 0.462 0.365
AWl 4.65 0.790| S 2.000 | 0.500| 2.000| 2.500 | Zf#Eix 2 0.25 1.25| 0.148| 0.342 0.391 0.309| 0.071| 0.408 0.492 0.389
AW7 4.65 0.790 | W 1.000| 0.550| 1.000| 1.550| E¥#fi% 2 0.55 1.55| 0.235| 0.476 0.609 0.481| 0.258| 0.511 0.650 0.514
AW8 3.60 0.380| W 1.000| 0.550| 1.000| 1.550| E¥#li% 2 0.55 1.55| 0.235| 0.476 0.609 0.231| 0.258| 0.511 0.650 0.247

*1 11=yl/z QOZEZZHE. XITERINVENGEE20ET D)
*2 12=(yl+ty2)/z (%FBZRZ5HE. XIFAKRIHVENEET20ET D)

] FEWE A% A T (2F)



NEFHRERE (VW) REAEHOTHEHRIEE (np)  HEE

EF%& 1 AZA T (2F) FEFAE : SR -E REH : 60.00 mi RS . 5
BTk - B L HEY BEEH
H Z3| A =i} g BT | SAUE
No FHhL EBAL AR FR BBALEREA Mg | RE HE E]m] BB aEe R £48 | W/mi-K]| A(L)-U-H| B vC | AL 7 (C) vH | AL n(H)
. sl = & B [ miE | HE| BER [k a (AR) | #& BIRKE| nfE | nC Hi Ve nH FHhL - vH
B8 A R "E ] | [m [m [@l| [m] [m [-1 [m] %] BMEER | [W/K] [-1 [-1 &% [-1 i34
[-1 [W/m-K] [-1 | BSRnmEE [-1 | BRREmEE
W/ W/ )] w/Qu/m)]
1|N shEE RC150(40) S5 | 1.00 5.000 2.950 14.75 14.75 2.90 11.85 0.71 8.41| 0.024 0.373 0.106 0.238 0.068
2| LN olmE:id AW4 SR | 1.00 1.200 1.000 1.20 1 1.20 4.65 5.58| 0.790| 0.333| 0.373 0.149| 0.365| 0.238 0.104
3| LN RO SD1 S5 | 1.00 0.850 2.000 1.70 1 1.70 4.65 7.91| 0.158 0.373 0.100 0.238 0.064
4s shEE RC150(40) S5 | 1.00 5.000 2.950 14.75 14.75 7.20 7.55 0.71 5.36| 0.024 0.472 0.086 0.983 0.178
5| ts olmE:id AWL SR | 1.00 3.600 2.000 7.20 1 7.20 4.65 33.48| 0.790| 0.309| 0.472 1.050| 0.389| 0.983 2.753
6| W 1B RC180(40) % | 1.00] 12.000 2.950 35.40 35.40 3.00 32.40 0.70 22.68| 0.024 0.518 0.403 0.538 0.418
70w RO AW7 S5 | 1.00 1.500 1.000 1.50 1 1.50 4.65 6.98| 0.790| 0.481| 0.518 0.374| 0.514| 0.538 0.415
gl Lw olmE:id AW8 SR | 1.00 1.500 1.000 1.50 1 1.50 3.60 5.40| 0.380| 0.231| 0.518 0.179| 0.247| 0.538 0.199
9|E RE REE BF% | 0.15| 12.000 2.950 35.40 35.40 35.40 3.02 16.04
10 | H(L) RK £ BEREER BF% | 0.15 60.00 60.00 60.00 3.28 29.52
11 | H(TF) RK TRERE R BF% | 0.15 60.00 60.00 60.00 2.36 21.24
12N BB HVEE- FHiEE S5 | 1.00 2.950 | 50% 0.60 0.89| 0.020 0.373 0.011 0.238 0.007
13 BABE SVEE- P EE S5 | 1.00 2.950 | 50% 0.60 0.89| 0.020 0.472 0.014 0.983 0.029
14| N BB SLEE-FR(HMR) S5 | 1.00 5.000 | 100% 0.60 3.00| 0.020 0.373 0.037 0.238 0.024
15| BABE SVEE-ER(SVR) SN& | 1.00 5.000 | 100% 0.60 3.00| 0.020 0.472 0.047 0.983 0.098
16| W BABE SHEE-IR(RR) SN& | 1.00 12.000 | 100% 0.85 10.20| 0.029 0.518 0.180 0.538 0.187
SA=  220.30 IA(L)-U-H =  180.58 IAWL):-N(C)-vC = 2.736
UA = ZA(L)-UH/ ZA= 0.82 nA= ZA(L)-n(C)-vC/ TAX100 = 1.3
(HE(E 0.87 ) (B#(E - 3.0)
K—RIRILF—EtHEWebANE — q= ZA(L)-U-H= 113.8 nc = ZAL)-n(C)-vC = 2.74  mH = IAL)-n(H)-vH = 4.54
(R - FRERL)

wRmst

AZ A F(2F)




BORERER VASBIEE—F P-1
oI 43

AEH BEEH
BERE | BHEHB | A BRUBRBRTFOTE[M] AftE | A5 X 11 12
FOARE TR u g WED | L0 BROBRY | HERYK nc HROBREY | MERYK nH
[W/mK] n y2 y1 z ylvy2 | SHEAE | RS fc (=fCcn) fH (=FH )
-1 *1 * 1 ) f )

AW4 4.65 0.790| N 1.000| 0.480| 1.800| 1.480| E¥#li% 2 0.27 0.82| 0.194| 0.348 0.422 0.333| 0.252| 0.394 0.462 0.365
AWl 4.65 0.790| S 2.000 | 0.500| 2.000| 2.500 | Zf#Eix 2 0.25 1.25| 0.148| 0.342 0.391 0.309| 0.071| 0.408 0.492 0.389
AW7 4.65 0.790 | W 1.000| 0.550| 1.000| 1.550| E¥#fi% 2 0.55 1.55| 0.235| 0.476 0.609 0.481| 0.258| 0.511 0.650 0.514
AW8 3.60 0.380| W 1.000| 0.550| 1.000| 1.550| E¥#li% 2 0.55 1.55| 0.235| 0.476 0.609 0.231| 0.258| 0.511 0.650 0.247

*1 11=yl/z QOZEZZHE. XITERINVENGEE20ET D)
*2 12=(yl+ty2)/z (%FBZRZ5HE. XIFAKRIHVENEET20ET D)

] FEMEE A% A T (10F)



NEFHRERE (VW) REAEHOTHEHRIEE (np)  HEE

EF% : A% A T(10F) FFREE: &RERE-E REH : 60.00 mi RS . 5
BTk - B L HEY BEEH
H Z3| A =i} g BT | SAUE
No FHhL EBAL AR FR BBALEREA Mg | RE HE E]m] BB aEe R £48 | W/mi-K]| A(L)-U-H| B vC | AL 7 (C) vH | AL n(H)
. sl = & B [ miE | HE| BER [k a (AR) | #& BIRKE| nfE | nC Hi Ve nH FHhL - vH
B8 A R "E ] | [m [m [@l| [m] [m [-1 [m] %] BMEER | [W/K] [-1 [-1 &% [-1 i34
[-1 [W/m-K] [-1 | BSRnmEE [-1 | BRREmEE
W/ W/ )] w/Qu/m)]
1|N shEE RC150(40) S5 | 1.00 5.000 2.950 14.75 14.75 2.90 11.85 0.71 8.41| 0.024 0.373 0.106 0.238 0.068
2| LN olmE:id AW4 SR | 1.00 1.200 1.000 1.20 1 1.20 4.65 5.58| 0.790| 0.333| 0.373 0.149| 0.365| 0.238 0.104
3| LN RO SD1 S5 | 1.00 0.850 2.000 1.70 1 1.70 4.65 7.91| 0.158 0.373 0.100 0.238 0.064
4s shEE RC150(40) S5 | 1.00 5.000 2.950 14.75 14.75 7.20 7.55 0.71 5.36| 0.024 0.472 0.086 0.983 0.178
5| ts olmE:id AWL SR | 1.00 3.600 2.000 7.20 1 7.20 4.65 33.48| 0.790| 0.309| 0.472 1.050| 0.389| 0.983 2.753
6| W 1B RC180(40) % | 1.00] 12.000 2.950 35.40 35.40 3.00 32.40 0.70 22.68| 0.024 0.518 0.403 0.538 0.418
70w RO AW7 S5 | 1.00 1.500 1.000 1.50 1 1.50 4.65 6.98| 0.790| 0.481| 0.518 0.374| 0.514| 0.538 0.415
gl Lw olmE:id AW8 SR | 1.00 1.500 1.000 1.50 1 1.50 3.60 5.40| 0.380| 0.231| 0.518 0.179| 0.247| 0.538 0.199
9|E RE REE BF% | 0.15| 12.000 2.950 35.40 35.40 35.40 3.02 16.04
10 | H(L) = B4R (50) S5 | 1.00 60.00 60.00 60.00| 0.00 0.40 24.00| 0.014 1.000 0.840 1.000 0.840
11 | H(TF) RK TRERE R BF% | 0.15 60.00 60.00 60.00 2.36 21.24
12N BB HVEE- FHiEE S5 | 1.00 2.950 | 50% 0.60 0.89| 0.020 0.373 0.011 0.238 0.007
13 BABE SVEE- P EE S5 | 1.00 2.950 | 50% 0.60 0.89| 0.020 0.472 0.014 0.983 0.029
14| H(L) BABE EiR-5 B (S R) SN | 1.00 5.000 | 100% 0.35 1.75| 0.012 1.000 0.060 1.000 0.060
15 | H(L) BABE BR-SEGHR) SN& | 1.00 5.000 | 100% 0.35 1.75| 0.012 1.000 0.060 1.000 0.060
16 | H(L) BABE BiR-5MEE(RR) SN& | 1.00 12.000 | 100% 0.30 3.60| 0.010 1.000 0.120 1.000 0.120
SA=  220.30 IAL)-U-H=  165.96 IAWL):-N(C)-vC = 3.552
UA = ZA(L)-UH/ ZA= 0.76 nA= ZA(L)-n(C)-vC/ TAX100 = 1.7
(HE(E 0.87 ) (B#(E - 3.0)
K—RIRILF—EtHEWebANE — q= ZA(L)-U-H= 128.7 nc = ZAL)-n(C)-vC = 3.55 mH = IA(L)-n(H)-vH = 5.32
(R - FRERL)

wRmE

A% 4 F(10F)




BORERER VASBIEE—F P-1
oI 43

AEH BEEH
BERE | BHEHB | A BRUBRBRTFOTE[M] AftE | A5 X 11 12
FOARE TR u g WED | L0 BROBRY | HERYK nc HROBREY | MERYK nH
[W/mK] n y2 y1 z ylvy2 | SHEAE | RS fc (=fCcn) fH (=FH 1)
-1 *1 * 1 ) f )
AWS 4.65 0.790| N 1.000| 0.480| 1.800| 1.480| E¥#li% 2 0.27 0.82| 0.194| 0.348 0.422 0.333| 0.252| 0.394 0.462 0.365
AW2 4.65 0.790| S 2.000 | 0.500| 2.000| 2.500 | Zf#Eix 2 0.25 1.25| 0.148| 0.342 0.391 0.309| 0.071| 0.408 0.492 0.389

*1 11=yl/z QOZEZZEHE. XIFERTHVENEEE20ET D)
*2 12=(yl+ty2)/z (%FBZRZ5HE. XIFAKRIHVENEET20ET D)

] FHRWE 85 A T (2F)



NEFHRERE (VW) REAEHOTHEHRIEE (np)  HEE

EF% : BAA T (2F) FERME: &THE-$ REH : 72.00 mi RS . 5
BTk - B L HEY BEEH
H Z3| A =i} g BT | SAUE
No FHhL EBAL AR FR BBALEREA Mg | RE HE E]m] BB aEe R £48 | W/mi-K]| A(L)-U-H| B vC | AL 7 (C) vH | AL n(H)
. sl = & B [ miE | HE| BER [k a (AR) | #& BIRKE| nfE | nC Hi Ve nH FHhL - vH
B8 A R "E ] | [m [m [@l| [m] [m [-1 [m] %] BMEER | [W/K] [-1 [-1 &% [-1 i34
[-1 [W/m-K] [-1 | BESRREE [-]1 | BSRREE
W/ W/ )] w/Qu/m)]
1|N shEE RC150(40) S5 | 1.00 6.000 2.950 17.70 17.70 3.00 14.70 0.71 10.44| 0.024 0.373 0.132 0.238 0.084
2| LN olmE:id AW5 SR | 1.00 1.300 1.000 1.30 1 1.30 4.65 6.05 0.790| 0.333| 0.373 0.161| 0.365| 0.238 0.113
3| LN RO SD1 S5 | 1.00 0.850 2.000 1.70 1 1.70 4.65 7.91| 0.158 0.373 0.100 0.238 0.064
4s shEE RC150(40) S5 | 1.00 6.000 2.950 17.70 17.70 7.70 10.00 0.71 7.10| 0.024 0.472 0.113 0.983 0.236
5| ts olmE:id AW2 SR | 1.00 3.850 2.000 7.70 1 7.70 4.65 35.81| 0.790| 0.309| 0.472 1.123| 0.389| 0.983 2.944
6|E RE REE BF% | 0.15| 12.000 2.950 35.40 35.40 35.40 3.02 16.04
7w REE REE BF% | 0.15| 12.000 2.950 35.40 35.40 35.40 3.02 16.04
8 | H(L) REK L REREER BFE% | 0.15 72.00 72.00 72.00 3.28 35.42
9| H(TF) KO \R) | BHRi5(45) S5 | 1.00 72.00 72.00 72.00 0.53 38.16
10| N BABE SVEE- P EE S5 | 1.00 2.950 | 50% 0.60 0.89| 0.020 0.373 0.011 0.238 0.007
11| N BABE HVEE- P EE S5 | 1.00 2.950 | 50% 0.60 0.89| 0.020 0.373 0.011 0.238 0.007
128 BB HVEE- FHiEE S5 | 1.00 2.950 | 50% 0.60 0.89| 0.020 0.472 0.014 0.983 0.029
13 BABE SVEE- P EE S5 | 1.00 2.950 | 50% 0.60 0.89| 0.020 0.472 0.014 0.983 0.029
14| N BB SLEE-FR(HMR) S5 | 1.00 6.000 | 100% 0.60 3.60| 0.020 0.373 0.045 0.238 0.029
15| BABE SVEE-ER(SVR) SN& | 1.00 6.000 | 100% 0.60 3.60| 0.020 0.472 0.057 0.983 0.118
16 | H(T) BABE SHER-SMEE (S R) SN& | 1.00 6.000 | 100% 0.20 1.20
17 | H(F) BB SMER-SVEE(SVR) A% | 1.00 6.000 | 100% 0.20 1.20
18 | H(TF) B4EER SV R- P EE SN& | 1.00 12.000 | 50% 1.60 9.60
SA=  250.20 IAL)-U-H=  195.73 IAWL):-N(C)-vC = 1.781
UA = ZA(L)-UH/ ZA= 0.79 nA= ZA(L)-n(C)-vC/ TAX100 = 0.8
(HE(E 0.87 ) (B#(E - 3.0)
K—RIRILF—EtHEWebANE — q= ZA(L)-U-H= 128.2 nc = ZAL)-n(C)-vC = 1.78  mH = IAL) - n(H)-vH= 3.66
(R - FRERL)

w821 T(2F)




BORERER VASBIEE—F P-1
oI 43

AEH BEEH
BERE | BHEHB | A BRUBRBRTFOTE[M] AftE | A5 X 11 12
FOARE TR u g WED | L0 BROBRY | HERYK nc HROBREY | MERYK nH
[W/mK] n y2 y1 z ylvy2 | SHEAE | RS fc (=fCcn) fH (=FH 1)
-1 *1 * 1 ) f )
AWS 4.65 0.790| N 1.000| 0.480| 1.800| 1.480| E¥#li% 2 0.27 0.82| 0.194| 0.348 0.422 0.333| 0.252| 0.394 0.462 0.365
AW2 4.65 0.790| S 2.000 | 0.500| 2.000| 2.500 | Zf#Eix 2 0.25 1.25| 0.148| 0.342 0.391 0.309| 0.071| 0.408 0.492 0.389

*1 11=yl/z QOZEZZEHE. XIFERTHVENEEE20ET D)
*2 12=(yl+ty2)/z (%FBZRZ5HE. XIFAKRIHVENEET20ET D)

] FEWE 851 TGF)



NEFHRERE (VW) REAEHOTHEHRIEE (np)  HEE

HF% : BAA F(3F) FEFAE : SRR - ® REH : 72.00 mi RS . 5
BTk - B L HEY BEEH
H Z3| A =i} g BT | SAUE
No FHhL EBAL AR FR BBALEREA Mg | RE HE E]m] BB aEe R £48 | W/mi-K]| A(L)-U-H| B vC | AL 7 (C) vH | AL n(H)
. sl = & B [ miE | HE| BER [k a (AR) | #& BIRKE| nfE | nC Hi Ve nH FHhL - vH
B8 A R "E ] | [m [m [@l| [m] [m [-1 [m] %] BMEER | [W/K] [-1 [-1 &% [-1 i34
[-1 [W/m-K] [-1 | BESRREE [-]1 | BSRREE
W/ W/ )] w/Qu/m)]
1|N shEE RC150(40) S5 | 1.00 6.000 2.950 17.70 17.70 3.00 14.70 0.71 10.44| 0.024 0.373 0.132 0.238 0.084
2| LN olmE:id AW5 SR | 1.00 1.300 1.000 1.30 1 1.30 4.65 6.05 0.790| 0.333| 0.373 0.161| 0.365| 0.238 0.113
3| LN RO SD1 S5 | 1.00 0.850 2.000 1.70 1 1.70 4.65 7.91| 0.158 0.373 0.100 0.238 0.064
4s shEE RC150(40) S5 | 1.00 6.000 2.950 17.70 17.70 7.70 10.00 0.71 7.10| 0.024 0.472 0.113 0.983 0.236
5| ts olmE:id AW2 SR | 1.00 3.850 2.000 7.70 1 7.70 4.65 35.81| 0.790| 0.309| 0.472 1.123| 0.389| 0.983 2.944
6|E RE REE BF% | 0.15| 12.000 2.950 35.40 35.40 35.40 3.02 16.04
7w REE REE BF% | 0.15| 12.000 2.950 35.40 35.40 35.40 3.02 16.04
8 | H(L) REK L REREER BFE% | 0.15 72.00 72.00 72.00 3.28 35.42
9| H(F) REK TR R BFE% | 0.15 72.00 72.00 72.00 2.36 25.49
10| N BABE SVEE- P EE S5 | 1.00 2.950 | 50% 0.60 0.89| 0.020 0.373 0.011 0.238 0.007
11| N BABE HVEE- P EE S5 | 1.00 2.950 | 50% 0.60 0.89| 0.020 0.373 0.011 0.238 0.007
128 BB HVEE- FHiEE S5 | 1.00 2.950 | 50% 0.60 0.89| 0.020 0.472 0.014 0.983 0.029
13 BABE SVEE- P EE S5 | 1.00 2.950 | 50% 0.60 0.89| 0.020 0.472 0.014 0.983 0.029
14| N BB SLEE-FR(HMR) S5 | 1.00 6.000 | 100% 0.60 3.60| 0.020 0.373 0.045 0.238 0.029
15| BABE SVEE-ER(SVR) SN& | 1.00 6.000 | 100% 0.60 3.60| 0.020 0.472 0.057 0.983 0.118
SA=  250.20 IAL)-U-H=  171.06 IAWL):-N(C)-vC = 1.781
UA = ZA(L)-UH/ ZA= 0.69 nA= ZA(L)-n(C)-vC/ TAX100 = 0.8
(HE(E 0.87 ) (B#(E - 3.0)
K—RIRILF—EtHEWebANE — q= ZA(L)-U-H= 78.1 nc = ZAL)-n(C)-vC = 1.78  mH = IAL) - n(H)-vH= 3.66
(R - FRERL)

w821 TGF)




BORERER VASBIEE—F P-1
oI 43

AEH BEEH
BERE | BHEHB | A BRUBRBRTFOTE[M] AftE | A5 X 11 12
FOARE TR u g WED | L0 BROBRY | HERYK nc HROBREY | MERYK nH
[W/mK] n y2 y1 z ylvy2 | SHEAE | RS fc (=fCcn) fH (=FH )
-1 *1 * 1 ) f )

AW6 4.65 0.790| N 1.000| 0.480| 1.800| 1.480| E¥#li% 2 0.27 0.82| 0.194| 0.348 0.422 0.333| 0.252| 0.394 0.462 0.365
AW8 3.60 0.380| E 1.000| 0.550| 1.000| 1.550| &¥#flix 2 0.55 1.55| 0.242| 0.477 0.606 0.230| 0.253| 0.513 0.656 0.249
AW7 4.65 0.790| E 1.000| 0.550| 1.000| 1.550| E¥#fi% 2 0.55 1.55| 0.242| 0.477 0.606 0.479| 0.253| 0.513 0.656 0.518
AW3 4.65 0.790| S 2.000 | 0.500| 2.000| 2.500| E¥#@i% 2 0.25 1.25| 0.148 | 0.342 0.391 0.309| 0.071| 0.408 0.492 0.389

*1 11=yl/z QOZEZZHE. XITERINVENGEE20ET D)
*2 12=(yl+ty2)/z (%FBZRZ5HE. XIFAKRIHVENEET20ET D)

] FEME 54 T (2F)



SHETHRERE (UA) RUSEHOTHBEHFBREE (1)

HEE

HF% : CAA T (2F) FRUE: BTHE-Z REH : 84.00 m RS . 5
BTk - B L HEY BEEH
H Z3| A =i} g BT | SAUE
No FHhL EBAL AR FR BBALEREA Mg | RE HE E]m] BB aEe R £48 | W/mi-K]| A(L)-U-H| B vC | AL 7 (C) vH | AL n(H)
. sl = & B [ miE | HE| BER [k a (AR) | #& HEKE| nfE | nC Hi Ve nH FHhL - vH
B8 A R "E ] | [m [m [@l| [m] [m [-1 [m] %] BMEER | [W/K] [-1 [-1 &% [-1 i34
[-1 [W/m-K] [-1 | BESRREE [-]1 | BSRREE
W/ W/ )] w/Qu/m)]
1|N shEE RC150(40) S5 | 1.00 7.000 2.950 20.65 20.65 3.05 17.60 0.71 12.50| 0.024 0.373 0.158 0.238 0.101
2| LN olmE:id AW6 SR | 1.00 1.350 1.000 1.35 1 1.35 4.65 6.28| 0.790| 0.333| 0.373 0.168| 0.365| 0.238 0.117
3| LN RO SD1 S5 | 1.00 0.850 2.000 1.70 1 1.70 4.65 7.91| 0.158 0.373 0.100 0.238 0.064
4 E shEE RC180(40) 5% | 1.00] 12.000 2.950 35.40 35.40 3.00 32.40 0.70 22.68| 0.024 0.500 0.389 0.568 0.442
5| LE olmE:id A8 SR | 1.00 1.500 1.000 1.50 1 1.50 3.60 5.40| 0.380| 0.230| 0.500 0.173| 0.249| 0.568 0.212
6| L E olmE:id AW7 SR | 1.00 1.500 1.000 1.50 1 1.50 4.65 6.98| 0.790| 0.479| 0.500 0.359| 0.518| 0.568 0.441
708 shEE RC150(40) S5 | 1.00 7.000 2.950 20.65 20.65 8.40 12.25 0.71 8.70| 0.024 0.472 0.139 0.983 0.289
gl Lts olmE:id AW3 SR | 1.00 4.200 2.000 8.40 1 8.40 4.65 39.06| 0.790| 0.309| 0.472 1.225| 0.389| 0.983 3.212
9lw RE REE BF% | 0.15| 12.000 2.950 35.40 35.40 35.40 3.02 16.04
10 | H(L) RK £ BEREER BF% | 0.15 84.00 84.00 84.00 3.28 41.33
11| H(F) BR(Z Otth) | #£FA%5) KT |0.70 84.00 84.00 84.00 0.50 29.40
12N BB HVEE- FHiEE S5 | 1.00 2.950 | 50% 0.60 0.89| 0.020 0.373 0.011 0.238 0.007
13 BABE SVEE- P EE S5 | 1.00 2.950 | 50% 0.60 0.89| 0.020 0.472 0.014 0.983 0.029
14| N BB SLEE-FR(HMR) S5 | 1.00 7.000 | 100% 0.60 4.20| 0.020 0.373 0.052 0.238 0.033
15| € BABE SHEE-IR(RR) SN& | 1.00 12.000 | 100% 0.85 10.20| 0.029 0.500 0.174 0.568 0.198
16/ BABE SVEE-ER(SVR) SN& | 1.00 7.000 | 100% 0.60 4.20| 0.020 0.472 0.066 0.983 0.138
17 | H(F) BB ZDHER-SEE (S R) KT |0.70 7.000 | 100% 0.20 0.98
18 | H(TF) B4EER ZDRLER-SEE(RR) T |0.70 12.000 | 100% 0.30 2.52
19 | H(TF) BHEER ZDRLER-SEE (S R) T |0.70 7.000 | 100% 0.20 0.98
20 | H(F) BB Z D R-TFRkE: KT |0.70 12.500 | 100% 1.10 9.63
21| H(F) BB SMR-F R A% | 1.00 12.000 | 50% 1.60 9.60
SA=  280.10 TAL)-U-H = 240.37 IAWL):-N(C)-vC = 3.028
UA = ZA(L)-UH/ ZA= 0.86 nA= ZA(L)-n(C)-vC/ TAX100 = 1.1
(HE(E 0.87 ) (B#(E - 3.0)
K—RIRILF—EtHEWebANE — q= ZA(L)-U-H= 183.0 nc = ZAL)-n(C)-vC = 3.03 mH= IAL)-n(H)-vH = 5.28
(R - FRERL)

wRmst

Ca A F(2F)




BORERER VASBIEE—F P-1
oI 43

AEH BEEH
BERE | BHEHB | A BRUBRBRTFOTE[M] AftE | A5 X 11 12
FOARE TR u g WED | L0 BROBRY | HERYK nc HROBREY | MERYK nH
[W/mK] n y2 y1 z ylvy2 | SHEAE | RS fc (=fCcn) fH (=FH )
-1 *1 * 1 ) f )

AW6 4.65 0.790| N 1.000| 0.480| 1.800| 1.480| E¥#li% 2 0.27 0.82| 0.194| 0.348 0.422 0.333| 0.252| 0.394 0.462 0.365
AW8 3.60 0.380| E 1.000| 0.550| 1.000| 1.550| &¥#flix 2 0.55 1.55| 0.242| 0.477 0.606 0.230| 0.253| 0.513 0.656 0.249
AW7 4.65 0.790| E 1.000| 0.550| 1.000| 1.550| E¥#fi% 2 0.55 1.55| 0.242| 0.477 0.606 0.479| 0.253| 0.513 0.656 0.518
AW3 4.65 0.790| S 2.000 | 0.500| 2.000| 2.500| E¥#@i% 2 0.25 1.25| 0.148 | 0.342 0.391 0.309| 0.071| 0.408 0.492 0.389

*1 11=yl/z QOZEZZHE. XITERINVENGEE20ET D)
*2 12=(yl+ty2)/z (%FBZRZ5HE. XIFAKRIHVENEET20ET D)

] FEWE 54 TG



NEFHRERE (VW) REAEHOTHEHRIEE (np)  HEE

HF%& : CA4 T (3F) FEFAE : SR -E REH : 84.00 m RS . 5
BTk - B L HEY BEEH
H Z3| A =i} g BT | SAUE
No FHhL EBAL AR FR BBALEREA Mg | RE HE E]m] BB aEe R £48 | W/mi-K]| A(L)-U-H| B vC | AL 7 (C) vH | AL n(H)
. sl = & B [ miE | HE| BER [k a (AR) | #& BIRKE| nfE | nC Hi Ve nH FHhL - vH
B8 A R "E ] | [m [m [@l| [m] [m [-1 [m] %] BMEER | [W/K] [-1 [-1 &% [-1 i34
[-1 [W/m-K] [-1 | BSRnmEE [-1 | BRREmEE
W/ W/ )] w/Qu/m)]
1|N shEE RC150(40) S5 | 1.00 7.000 2.950 20.65 20.65 3.05 17.60 0.71 12.50| 0.024 0.373 0.158 0.238 0.101
2| LN olmE:id AW6 SR | 1.00 1.350 1.000 1.35 1 1.35 4.65 6.28| 0.790| 0.333| 0.373 0.168| 0.365| 0.238 0.117
3| LN RO SD1 S5 | 1.00 0.850 2.000 1.70 1 1.70 4.65 7.91| 0.158 0.373 0.100 0.238 0.064
4 E shEE RC180(40) 5% | 1.00] 12.000 2.950 35.40 35.40 3.00 32.40 0.70 22.68| 0.024 0.500 0.389 0.568 0.442
5| LE olmE:id A8 SR | 1.00 1.500 1.000 1.50 1 1.50 3.60 5.40| 0.380| 0.230| 0.500 0.173| 0.249| 0.568 0.212
6| L E olmE:id AW7 SR | 1.00 1.500 1.000 1.50 1 1.50 4.65 6.98| 0.790| 0.479| 0.500 0.359| 0.518| 0.568 0.441
708 shEE RC150(40) S5 | 1.00 7.000 2.950 20.65 20.65 8.40 12.25 0.71 8.70| 0.024 0.472 0.139 0.983 0.289
gl Lts olmE:id AW3 SR | 1.00 4.200 2.000 8.40 1 8.40 4.65 39.06| 0.790| 0.309| 0.472 1.225| 0.389| 0.983 3.212
9lw RE REE BF% | 0.15| 12.000 2.950 35.40 35.40 35.40 3.02 16.04
10 | H(L) RK £ BEREER BF% | 0.15 84.00 84.00 84.00 3.28 41.33
11 | H(TF) RK TRERE R BF% | 0.15 84.00 84.00 84.00 2.36 29.74
12N BB HVEE- FHiEE S5 | 1.00 2.950 | 50% 0.60 0.89| 0.020 0.373 0.011 0.238 0.007
13 BABE SVEE- P EE S5 | 1.00 2.950 | 50% 0.60 0.89| 0.020 0.472 0.014 0.983 0.029
14| N BB SLEE-FR(HMR) S5 | 1.00 7.000 | 100% 0.60 4.20| 0.020 0.373 0.052 0.238 0.033
15| € BABE SHEE-IR(RR) SN& | 1.00 12.000 | 100% 0.85 10.20| 0.029 0.500 0.174 0.568 0.198
16/ BABE SVEE-ER(SVR) SN& | 1.00 7.000 | 100% 0.60 4.20| 0.020 0.472 0.066 0.983 0.138
SA=  280.10 IAL)-U-H = 217.00 IAWL):-N(C)-vC = 3.028
UA = ZA(L)-UH/ ZA= 0.78 nA= ZA(L)-n(C)-vC/ TAX100 = 1.1
(HE(E 0.87 ) (B#(E - 3.0)
K—RIRILF—EtHEWebANE — q= ZA(L)-U-H= 129.9 nc = ZAL)-n(C)-vC = 3.03 mH= IAL)-n(H)-vH = 5.28
(R - FRERL)

wRmst

CH 4 F(3F)




BORERER VASBIEE—F P-1
oI 43

AEH BEEH
BERE | BHEHB | A BRUBRBRTFOTE[M] AftE | A5 X 11 12
FOARE TR u g WED | L0 BROBRY | HERYK nc HROBREY | MERYK nH
[W/mK] n y2 y1 z ylvy2 | SHEAE | RS fc (=fCcn) fH (=FH )
-1 *1 * 1 ) f )

AW6 4.65 0.790| N 1.000| 0.480| 1.800| 1.480| E¥#li% 2 0.27 0.82| 0.194| 0.348 0.422 0.333| 0.252| 0.394 0.462 0.365
AW8 3.60 0.380| E 1.000| 0.550| 1.000| 1.550| &¥#flix 2 0.55 1.55| 0.242| 0.477 0.606 0.230| 0.253| 0.513 0.656 0.249
AW7 4.65 0.790| E 1.000| 0.550| 1.000| 1.550| E¥#fi% 2 0.55 1.55| 0.242| 0.477 0.606 0.479| 0.253| 0.513 0.656 0.518
AW3 4.65 0.790| S 2.000 | 0.500| 2.000| 2.500| E¥#@i% 2 0.25 1.25| 0.148 | 0.342 0.391 0.309| 0.071| 0.408 0.492 0.389

*1 11=yl/z QOZEZZHE. XITERINVENGEE20ET D)
*2 12=(yl+ty2)/z (%FBZRZ5HE. XIFAKRIHVENEET20ET D)

] FERWE 54 T (9F)



SHETHRERE (UA) RUSEHOTHBEHFBREE (1)

HEE

EF%& : CAA T (9F) FFREE: &RERE-E REH : 84.00 m RS . 5
BTk - B L HEY BEEH
H Z3| A =i} g BT | SAUE
No FHhL EBAL AR FR BBALEREA Mg | RE HE E]m] BB aEe R £48 | W/mi-K]| A(L)-U-H| B vC | AL 7 (C) vH | AL n(H)
. sl = & B [ miE | HE| BER [k a (AR) | #& BIRKE| nfE | nC Hi Ve nH FHhL - vH
B8 A R "E ] | [m [m [@l| [m] [m [-1 [m] %] BMEER | [W/K] [-1 [-1 &% [-1 i34
[-1 [W/m-K] [-1 | BSRnmEE [-1 | BRREmEE
W/ W/ )] w/Qu/m)]
1|N shEE RC150(40) S5 | 1.00 7.000 2.950 20.65 20.65 3.05 17.60 0.71 12.50| 0.024 0.373 0.158 0.238 0.101
2| LN olmE:id AW6 SR | 1.00 1.350 1.000 1.35 1 1.35 4.65 6.28| 0.790| 0.333| 0.373 0.168| 0.365| 0.238 0.117
3| LN RO SD1 S5 | 1.00 0.850 2.000 1.70 1 1.70 4.65 7.91| 0.158 0.373 0.100 0.238 0.064
4 E shEE RC180(40) 5% | 1.00] 12.000 2.950 35.40 35.40 3.00 32.40 0.70 22.68| 0.024 0.500 0.389 0.568 0.442
5| LE olmE:id A8 SR | 1.00 1.500 1.000 1.50 1 1.50 3.60 5.40| 0.380| 0.230| 0.500 0.173| 0.249| 0.568 0.212
6| L E olmE:id AW7 SR | 1.00 1.500 1.000 1.50 1 1.50 4.65 6.98| 0.790| 0.479| 0.500 0.359| 0.518| 0.568 0.441
708 shEE RC150(40) S5 | 1.00 7.000 2.950 20.65 20.65 8.40 12.25 0.71 8.70| 0.024 0.472 0.139 0.983 0.289
gl Lts olmE:id AW3 SR | 1.00 4.200 2.000 8.40 1 8.40 4.65 39.06| 0.790| 0.309| 0.472 1.225| 0.389| 0.983 3.212
9lw RE REE BF% | 0.15| 12.000 2.950 35.40 35.40 35.40 3.02 16.04
10 | H(L) =3 =733 =—(60) S5 | 1.00 48.00 48.00 48.00| 0.00 0.40 19.20| 0.014 1.000 0.672 1.000 0.672
11| H(L) RK £ BEREER BF% | 0.15 36.00 36.00 36.00 3.28 17.71
12 | H(F) REK TR R BFE% | 0.15 84.00 84.00 84.00 2.36 29.74
13| N BABE SVEE- P EE S5 | 1.00 2.950 | 50% 0.60 0.89| 0.020 0.373 0.011 0.238 0.007
14|53 BB HVEE- FHiEE S5 | 1.00 2.950 | 50% 0.60 0.89| 0.020 0.472 0.014 0.983 0.029
15 | H(L) BABE BR-SEGHR) SN& | 1.00 7.000 | 100% 0.35 2.45| 0.012 1.000 0.084 1.000 0.084
16 | H(L) BABE BiR-5MEE(RR) SN& | 1.00 12.000 | 100% 0.30 3.60| 0.010 1.000 0.120 1.000 0.120
17 | H(L) BABE EiR-5 (S R) SN | 1.00 2.500 | 100% 0.35 0.88| 0.012 1.000 0.030 1.000 0.030
18]S BABE SVEE-ER(SVR) SN& | 1.00 4.500 | 100% 0.60 2.70| 0.020 0.472 0.042 0.983 0.088
19 | H(L) BABE BR- bR S5 | 1.00 12.500 | 100% 0.90 11.25| 0.031 1.000 0.388 1.000 0.388
SA=  280.10 IAL)-U-H =  214.86 IAWL):-N(C)-vC = 4.072
UA = ZA(L)-UH/ ZA= 0.77 nA= ZA(L)-n(C)-vC/ TAX100 = 1.5
(HE(E 0.87 ) (B#(E - 3.0)
—RIFINF—itHWebANfE — q= ZA(L)-U-H= 151.4 nc = ZAL)-n(C)-vC = 4.07  mH= ZAL)-n(H)-vH = 6.30

(REK - FREERRC)

HRmE ~ c2 14 F(9F)




BORERER VASBIEE—F P-1
oI 43

AEH BEEH
REFRE | BHEB | A BRUBKRITOTEIM] BffE | ASX| 11 12
FOARE TR U HGE WED | TR0 HEROFRYB | WERK| ncC HROBREY | MERYK nH
[W/mK] n y2 y1 z ylvy2 | SHEAE | RS fc (=fCcn) fH (=FH )
-1 *1 * 1 ) 1 )

AW11 4.07 0.640| N 1.000| 0.480| 1.800| 1.480| E&ffi% 3 0.27 0.82| 0.189| 0.339 0.411 0.263| 0.247| 0.385 0.451 0.289
AW12 3.21 0.380| N 1.000 - - - | EMEE 3 20.00 | 20.00| 0.800| 0.800 0.800 0.304| 0.809| 0.809 0.809 0.307
AW13 4.07 0.640 | E 1.000| 0.000| 0.200| 1.000| E¥ffi% 3 0.00 5.00| 0.000| 0.707 0.707 0.452| 0.000| 0.725 0.725 0.464
AW14 4.07 0.640 | E 1.000| 0.000| 0.200| 1.000| E¥fli% 3 0.00 5.00| 0.000| 0.707 0.707 0.452| 0.000| 0.725 0.725 0.464
AW15 4.07 0.640 | E 1.000| 0.000| 0.200| 1.000| E¥ffi% 3 0.00 5.00| 0.000| 0.707 0.707 0.452| 0.000| 0.725 0.725 0.464
AW9 4.07 0.640| S 2.000 | 0.500| 2.000| 2.500 | E¥#E% 3 0.25 1.25| 0.144| 0.334 0.382 0.244| 0.069 | 0.400 0.483 0.309
AW10 4.07 0.640| S 2.000 | 0.500| 2.000| 2.500 | Zf#Ei% 3 0.25 1.25| 0.144| 0.334 0.382 0.244| 0.069 | 0.400 0.483 0.309

*1 11=yl/z QOZEBZ5HE. XIFAKRINENGEEIF20LT )
*2 12=(yl+y2)/z (0%BZ5HE. XIFARINENSEEIF20LT )

] FEMEE ~ DR A T (10F)



SHETHRERE (UA) RUSEHOTHBEHFBREE (1)

HEE

HF4% : DAL F(10F) FRME: RERE REH : 108.00 ni RS . 5
BTk - B L HEY BEEH
. H ) Z3| A =i} g BT | SAUE
No FHhL EBAL AR FR BBALEREA Mg | RE N HE E]m] BB aEe R £48 | W/mi-K]| A(L)-U-H| B vC | AL 7 (C) vH | AL n(H)
. sl = & B EH R | HE | @R i a (AR) | #& BIRKE| nfE | nC Hi Ve nH FHhL - vH
B8 A R ®E [m] ] [m [m [&@1]| [m] [m [-1 ] [%1 BAEE | WK [-1 [-1 (i34 [-1 (3
[-1 [W/m-K] [-1 | BESRREE [-]1 | BSRREE
W/ W/ )] w/Qu/m)]
1|N shEE RC150(40) S5 | 1.00 6.000 2.950 17.70 17.70 3.30 14.40 0.71 10.22| 0.024 0.373 0.129 0.238 0.082
2| LN olmE:id SD1 SR | 1.00 0.850 2.000 1.70 1 1.70 4.65 7.91| 0.158 0.373 0.100 0.238 0.064
3| LN RO AW11 S5 | 1.00 1.600 1.000 1.60 1 1.60 4.07 6.51| 0.640| 0.263| 0.373 0.157| 0.289| 0.238 0.110
4N shEE RC180(40) S5 | 1.00 4.500 2.950 13.28 13.28 1.10 12.18 0.70 8.53| 0.024 0.373 0.109 0.238 0.070
5| LN olmE:id AWL2 SR | 1.00 1.100 1.000 1.10 1 1.10 3.21 3.53| 0.380| 0.304| 0.373 0.125| 0.307| 0.238 0.080
6|E 1B RC180(40) SR | 1.00 4.000 2.950 11.80 11.80 1.20 10.60 0.70 7.42| 0.024 0.500 0.127 0.568 0.144
7| “E RO AW13 S5 | 1.00 1.200 1.000 1.20 1 1.20 4.07 4.88| 0.640| 0.452| 0.500 0.271| 0.464| 0.568 0.316
8|E 5hEE RC180(40) SR | 1.00 8.000 2.950 23.60 23.60 2.85 20.75 0.70 14.53| 0.024 0.500 0.249 0.568 0.283
9| LE olmE:id AWL4 SR | 1.00 1.350 1.000 1.35 1 1.35 4.07 5.49| 0.640| 0.452| 0.500 0.305| 0.464| 0.568 0.356
10| LE RO AW15 S5 | 1.00 1.500 1.000 1.50 1 1.50 4.07 6.11| 0.640| 0.452| 0.500 0.339| 0.464| 0.568 0.395
1|8 shEE RC150(40) % | 1.00] 11.500 2.950 33.93 33.93 16.10 17.83 0.71 12.66| 0.024 0.472 0.202 0.983 0.421
12| Ls olmE:id AW9 SR | 1.00 4.350 2.000 8.70 1 8.70 4.07 35.41| 0.640| 0.244| 0.472 1.002| 0.309| 0.983 2.643
13| Ls RO AW10 S5 | 1.00 3.700 2.000 7.40 1 7.40 4.07 30.12| 0.640| 0.244| 0.472 0.852| 0.309| 0.983 2.248
14w RE REE BF% | 0.15| 12.000 2.950 35.40 35.40 35.40 3.02 16.04
15| H(L) = B4R (50) S5 | 1.00 108.00|  108.00 108.00 | 0.00 0.40 43.20| 0.014 1.000 1.512 1.000 1.512
16 | H(T) RK TRERE R BF% | 0.15 108.00|  108.00 108.00 2.36 38.23
17 | N BB HVEE- FHiEE S5 | 1.00 2.950 | 100% 0.60 1.77| 0.020 0.373 0.022 0.238 0.014
8|S BABE HVEE- P EE S5 | 1.00 2.950 | 100% 0.60 1.77| 0.020 0.472 0.028 0.983 0.058
19 | H(L) BABE BR-SEGHR) SN& | 1.00 6.000 | 100% 0.35 2.10| 0.012 1.000 0.072 1.000 0.072
20 | H(L) BB BIR-9VEE(CRE) S5 | 1.00 4.500 | 100% 0.35 1.58| 0.012 1.000 0.054 1.000 0.054
21| H(E) BABE EiR-5 B (NE) SN | 1.00 4.000 | 100% 0.30 1.20| 0.010 1.000 0.040 1.000 0.040
22 | H(E) BABE BiR-5VEE (R ) S5 | 1.00 8.000 | 100% 0.35 2.80| 0.012 1.000 0.096 1.000 0.096
23 | H(L) BABE EiR-5 (S R) SN | 1.00 11.500 | 100% 0.35 4.03| 0.012 1.000 0.138 1.000 0.138
SA=  3L71 IAL)-U-H = 266.04 IAWL):-N(C)-vC = 5.929
UA = ZA(L)-UH/ ZA= 0.76 nA= ZA(L)-n(C)-vC/ TAX100 = 1.7
[€-%: 3/ 0.87 ) (BE(E - 3.0)
K—RIRILF—EtHEWebANE — q= ZA(L)-U-H= 211.8 nc = ZAL)-n(C)-vC = 5.93  mH= IA(L)-n(H)-vH= 9.20

(REK - FREERRC)

M~ D5 1 J(L0F)




